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+ Please check that this question paper contains 11 printed pages.

o Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

s Please check that this question paper contains 33 questions.
s Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i) This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

(ii)  Question paper is divided into two sections.

SECTION A

s Multiple choice questions / Fill in the blanks/Direct questions :
contains  total 12 questions of 1 mark each. Answer
any 10 questions.

o Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

e Short answer type questions : contains total 7 questions of 8 marks

y each. Answer any 5 questions.

SECTION B

Long answer / Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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SECTION A

frferfiga § 9 foredl 7@ vt & 3w Afvo .
Answer any ten of the following questions :
1. o @7 a0 B 8

(%) Tosy v foawo =33+ fasea i wima &

(@) fom @ faawr =59 + 3eqred & ova %

(M) Toska vd foator =5 + e WIS o ST %

Total cost is equal to

(a)  Selling and distribution expenses + Cost of sales

(b)  Selling and distribution expenses + Cost of production

(e)  Selling and distribution expenses + Cost of raw materials
2. 3YM (Sle) AT NI ITF 2

(#) =R w9 3 g %1 i @ el w691 % fou

(@) wIEgRo % ITAN 3G AT 1 (HT0 HE Tl Bl * o

(M) TrEeRl 6 Tafine avasmaisti % ATEd o1 &1 i w5 aeh Bl %

fer

Job costing is suitable for

(a)  Firms manufacturing goods on a continuous basis

(b}  Firms manufacturing goods for common use

(¢)  Firms manufacturing goods to customers’ specific requirements
3.  IUHE ANE TA@IHT b foTT I9YH T B
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(%) ffen ww

(@) e (gEdi) wwafi
()  "OHT ST (e )
Job costing is nof suitable for
(a)  Printing press

(b)  Transport companies

{c)  Repair workshops

3 P.T.O.

Ix10=10



5.

305

mﬁﬁ%@%ﬁﬁmmﬁwwwmﬁwm% :
(%) = St wfgat

(@) Fmin % %0 9@ (Fgavme) s

(M) ST

Out of the following, this is the one in which method of contract costing is
applied :

(a)  Breweries

(b)  Constructional Engineers

(c) Automobiles

T RIS I Wi T H 10% % Ui &1 S 8, A STH-E @W % s aa
4 BEITANT Ry ST A @ g
(%) 9

Lo Lo

(@) @
(M %o 7

When a contract is completed to the extent of 10% of the contract price,
profit transferred to credit side of Profit & Loss Account is

(a) % rd of Profit

(b) E rd of Profit

3
(¢)  Nil
Torelt wfshan o wmr= & % FHROT B el B

(%) whem @ 4 Hfee = & wwh
(@) uhsen = o 2fae w0 & soh
(M) v @ § Sfee W @ woh
Lé)ss due to normal wastage in a process is
(a)  Credited to the Process Account
(b)  Debited to the Process Account
(c)  Debited to Profit & Loss Account
4
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(%) ET BH

(@) wm &

(M)  SEE T H FE

A process loss that does not affect the cost per unit is
(a)  Abnormal loss

(b)  Normal loss

(e) None of the above

wfsran 1 wmTa T1d I T R e fetd dr e 2
() wN-EE @ o

(@) g EH

() w gu% @ |

Process cost is ascertained and recorded in

(a)  Profit & Loss Account

(b)  Balance Sheet

{¢) A separate account

forga ammafd Suseit % forw s Sratee %) watem fafa 2

() hRaT AT @i

(@) Ha1 AN AR

(M) I AN @i

The best method of costing in respect of electric supply undertakings is
(a)  Process costing

(b)  Service costing

(e)  Contract costing

ferefta 3R o @l &1 e S S srravasar ved 2
(%) o wral S Tl gea Aty R

(@) oirgm w F glaures s % A

(1)  duifw Rl = fafe w0 % o

The need for reconciling financial and cost accounts arise
(a)  To check arithmetic accuracy of both accounts

(b)  To facilitate audit work

(c)  To comply with statutory obligations
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12.

Th 301E T 7 AR T 80,000 B v o @ = 30,000 @fmrfera 2 | afz
FEM IINETT 5 ST 5 50 STerTa ST AT &, @ @ e 2t
(%) T 1,10,000

(@) = 95,000

(M) ¥ 1,45,000

The prime cost of a product is = 80,000 which includes the labour cost of
¥ 30,000. If works overhead is charged as 50 percent of labour cost, the
works cost will be

(a) ¥ 1,10,000

(b) ¥ 95,000

(c) T 1,45,000

A w g =re 3

(%) <V @i ar-a @ # i B s
(@) foxfta emwaf @ #t Sfse Brar smom

(M) foefia smaaf @ = e v smom
Interest received on investments will be

(a)  Credited to Costing Profit & Loss Account
(b)  Credited to Financial Profit & Loss Account
(¢) Debited to Financial Profit & Loss Account

ﬁwi%rﬁaaﬁﬁﬁvﬁuﬁsrﬁ%maﬁwz; 2x5=10

Answer any five of the following questions :

13.

14.

15.

16.
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FHIE W Sk w1 afowfye #if

Define unit costing.

Wﬁww(msﬂz)ﬁﬁﬁzﬁm(@w)%ﬁmq\wmé@w
AT |

State the treatment of sale value of factory scrap in cost sheet.

@q(h)mé@mﬁ%ﬁ@qwﬁmwmﬁ%?

What do you mean by Economic Batch Quantity in batch costing ?
wﬁﬁa&%mﬁmé&wmmgﬁaﬁﬂwﬁmmﬁwﬁ% |

State how profit or loss on incomplete contract is computed at the end of
the year.



17. ©8 I9E 1 &l 2 22 Iarew dfyu |

What is a joint product ? Give two examples.

18. U= SId W@ 971 8 ?

What is operating costing ?

19. UH fohedl IR ITRAT & A SAET SE @G T i % foe wiEme e
TRETRA T I Fomam Srem 3
Name any four undertakings where operating costing is used for
ascertaining cost.

Frafafgs o 9 fenedl ot wwdi & 3o & 3x5=15

Answer any five of the following questions :

20. ufEsd w4 9fe s (W0 9ety) < ofonfya Sifse | wfag s 5
GECUR S
Define the term Running Charges in transport companies. Give two
examples of running charges.

21. @V @l aun foes wEl & fiw Tem @ f Aevasar saE |

State the need for reconciliation between cost accounts and financial
accounts.

22. @rd @l qu fodfiw w@Et g feeme oo § o & R W swwont w5
3 i |
Mention any four reasons for difference in profits shown by cost accounts
and financial accounts.

23. IUHME AN @i (e HifEeN) T FY F GHE B 2 IGFR A0 A@HA
% 1Y Famsy, |
What do you mean by Job Costing ? State the advantages of job costing.

24. T NG @A (§9 FHie) 6 gfemar S | W@ 9 sl = 9m fafise
SRl @Y A @A A e 1 Feien o } ) WY @ ohgie au
3T AT TR o S TR 15T |
{Define Batch Costing. Name two industries where batch costing is the
most suitable method of costing. State the difference between batch
costing and job costing.

25. TNG-AIE (FHE ) Shi T A9 T TAFT & ? SHeN hH] ANA-AE S F
ERiIt i
What do you mean by Cost-Plus Contracts ? What are the advantages of
cost-plus contracts to the contractor ?
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26. 3 WA T § gfy T ® mmEE | Ut feufe sy w9 3en &
o gfg e sreafe waegl 2 2 |
Explain ‘Escalation Clause’ in contract costing. State the situation when
the escalation clause is of utmost Importance for the contractor.

QUg §
SECTION B
ﬁm%f@aﬁﬁﬁmﬁﬁasiﬁ%maﬁm: 5x5=25

Answer any five of the following questions :

27. T TEE wA, awl Yaem, o, 2018 9B % foU ww A ¥ wafg
frefofen st weqa st 2

=
69) SIRH, HrsHT qUT FEAR hl Targll 3,600
(i) <9 g Aw 10,320.
(iii) %% U9 GWaTER & 3o 1,500
(iv) TO9d U9 TEEE 1,200
(v)  HUgam 2,400
(vi)  YHougm 3,900
(vii) s 3,000

T8 WA TU T 4R % A a1 g 864,000 Rl oft, 2ot & T A
i feramier s e |

Maruti Travels, a transport company, provides the following data with
regard to a taxi for the month of June, 2018 :

z
(i) Wages of drivers, conductors and cleaners 3,600
(11) Diesel and oil 10,320
(iii)  Salaries of staff and supervisor 1,500
(iv) Repairs and maintenance 1,200
(v) Taxation and insurance 2,400
{(vi) Depreciation 3,900
(vil)  Interest 3,000

Calculate the cost of running of taxi per kilometre assuming the distance
covered during the month is 8,64,000 km.

305 8



28.

29.

305

T gl ®R Fmiar e 3 1000 faet s/ T | 1000 Reei &8 @
s 4 Toefeifas w9 fopu

=
S O +l H9 35,250

%Y T 9TEl 850

PR E L 18,450
FRETHT Uiy 2,750

Tosra ufeny 2,450
FHRTT ITRETY 1,850
FEMET FaTg (Th9) H1 I 250

AT AHHAT

F= O 1 TRIER Wi 9,750

F= AT 1 A0 wih 11,100 -

A oo v (Fe fie) sEwme aw wf Reetn R Rmr oo
fremifera |

A toy car manufacturing company has produced 1000 toy cars. The
company has incurred the following expenses on 1000 toys cars :

&

Raw material purchased 35,250
Carriage on purchases 850
Direct wages 18,450
Factory overhead 2,750
Selling overhead 2,450
Office overhead 1,850
Sale of factory scrap 250
Additional information :

‘ Opening stock of raw material 9,750
Closing stock of raw material 11,100

Prepare Cost Sheet and calculate the cost of sale per toy car.

AT foew @ (Hie W) @ ohnfia Sif | yerwest ¥ R amme fra
T % T SAIEY | AT oo v % il mest 4 g s

Define Cost Sheet. State the benefits of cost sheet to the management.
List the different components of cost sheet.
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mmém%mwﬁmﬁmwﬁmﬁ

ST 29 g SR o wn il
[ A i
afshan . -

EECEECs 6,400 12,000
a3ftq =g 3,600 3,000
FIEHT Jufsgy 2,000 2,250
F= 0T FT 399 24,000 —
gfaw 1 78 gt (Thed) 37,000 —
&7 () 1,000 1,500
w6, 1 39, 2019 — 4,000

| =T, 31 S9eY, 2019 — 1,000

From the tollowing data prepare Process Cost Accounts showing the cost
of output and cost per unit, at each stage of production :

B Process I A b
g ¥
Direct wages 6,400 12,000
Machine expenses 3,600 3,000
Factory overhead 2,000 2,250
Raw material consumed 24,000 —
Units Units
Units introduced (Gross) 37,000 —
Wastage 1,000 1,500
Stock, 1% January, 2019 — 4,000
Stock, 31% January, 2019 — 1,000

mmmﬁ@mnﬁmaﬁw%?maﬂmﬁmﬁﬁw
ﬁﬁmmmﬁawmmﬁs’m% | Sfsk @ @t § wmry
BT A9 ST w1 % e IIEH I FATHY |

What is Normal Process Loss and Abnormal Process Loss ? State the
factors/causes due to which normal loss and abnormal loss arise. State
the accounting treatment of normal loss and abnormal loss in process
cost accounts.
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32. 1 SFadl, 2018 ®1 Al 7Y A wH waa Fmim w1 I fom | 3% w1 g

¥ 89,000 9T |
3o Trafafea =g Fm"q :
g
arft w1 26,000
BEEE 35,000
T = 20,000
ERERCHH] 10,000

31 fearar, 2018 & 31 W & T AR GlE gew @ ww A W | I
aeﬁg‘émﬁﬁa?tam? 1,000 ¢t | #t wq 1 T<iehl B IeT @I ST |
T G 10% HeIwTE TRIY A1 HIGH 1 20% ITqeqe] 594 F TR |

Shri Manu undertook a contract for constructing a bu11d1ng on
1% January, 2018. The contract price was ¥ 89,000. '

He incurred the following expenses :

F
Materials purchased 26,000
Wages 35,000
Direct expenses 20,000
Plant purchased 10,000

The contract was completed on 315 December, 2018 and the contract
price was duly received. The cost of materials in hand at the end was
¥ 1,000. Prepare contract account in the books of Shri Manu. Provide
depreciation at 10% on plant and charge indirect expenses at 20% on
wages.

33. oW W@l a1 Tl e & f s % fargadl =1 wwwmsy |

‘ Explain the points of difference between Cost Accounting and Financial
Accounting.
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